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BER vk 1[dE = 51 5 — A
BER |tk 2|4t 50 5 — A
BER | B[4ES 50 14| 044 B
BER |#sh 2|dEX 50 14| 023 c*
BEER |)h 1[dE = 52 5] — A |EFwLEH
BER ()it 2|dEX 52 8| 060 A |EEFHILEH
BER |)h 3|t X 52 8| 0.60 A |EEFEHILEH
BER (iHr 28X E[4=S 53 6| — c*
BEER |t 284X 2|4t 53 3 — A
BER |87 21X 3|4 53 8| 023 c*
EER |t 284X 4|t 53 3 — A
BER |5t 28X 546X 53 8l — c*
BEER |t 284X 6|dLX 53 3 — A
BER |87 21X 7|4LX 53 6 — c*
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BEER |JHE 25X 8|4t X 53 3l — A
BER |8 21X 9[dL X 53 6| — c*
BER |tH X E[4=S 54 6| — c*
BER |8 KEET]Ps 2|4t 54 6| — c*
BER |t X 3|dLX 55 6| — c*
BER [T 3R 4|4EX 55 7| 0.26 c*
BER |3tH X 5|4t X 55 71 - c*
BER [T WX 6|dLX 55 71 - c*
BER |3tH X 7|4dL X 54-55 8l — c*
BER |5tHT KYESIE 8|t 55 0| 027 c*
BER |tH X 9|4t X 55 6| — c*
BER |3tHT 3R 10[dL X 55 6 — c*
BER |3t X 1AL 55 6| — c*
BER |itHT MEHR B[4ES 53 6 — c*
BER |3t AR 2|dEX 53 8l — c*
BER |18 4R K] B[q= 53 6| — c*
BER |3t AR 44X 53 6| — c*
BER |3tHT MEHR 5[4t 53 8l - c*
BER |3t AR 6|4t X 53 8l — c*
BER ME 1[hH X 46 7] 061 A |EFHIEEH
BER M5 2| R 46 7| 067 A |[EEFEHLEH
BER |b# 1| Ft X 49 8| — BX
BER |hH 2| AR 49 8| 0.31 BX
BER |57 1|hHE 51 8| 031 BX
BER |EE X 26 4 - A
BEER |EE X 26 4 - A
EER (K@ 1) 50 5] — A
BER (K@ 2| 51 5 — A
BER | 1R 47 8| 060 A |RFEMILEH
BER |4 2| IR 47 8| 013 c*
BER | 3| 47 8| 060 A |RFEMILEH
BER (il 4|5 )IX 50 8| 0.14 C |MEHIEEH
BER | 581X 49 8l - C |MEIEEFH
BER (il 6|51 50 8l — A
BER Bl 71X 50 8| 066 A
BER |[/NAT 1|sh)IIR 51 8| 0.60 A |EF@GILEH
BEER |)\# 1) 51 8| 042 B*
BER (B 1[=Fx 51 8| 032 B |WEXIBFHS
EER Bk 2| 51 8l — B |MEIEEFH
BER (AR 1| =#)IE 51 8| 032 B |WEmEHEH
EER |aR 2| 51 5] — B*
BER |aR 3| 52 8| 024 Cc |WMEHEFH
BER (A 1) 52 7] 060 A |RFEWILEH
BER |FmaH 2|5 52 7| 061 A |EFwLEH
BER (A 3| 52 4 - A |RFEWILEH
BER |FmaiH IS 52 4 - A |EFwLEH
BER [FRig 1) 53 5] — B*
BER |BRHRE= 1| )IR 53 5| 059 B
BER (EREEZ 2| 53 5] — B*
BER |BaTAE= 3[R 53 4l - BX
BER |EEHE= 4| )IX 53 4 - B*
BER (RBE— 1|HIIK 53 7| o036 BX
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BER |[KBFE— 2|5 JIIX 53 71 03 B |[MEIEEFH
BER |[RBFE— 3[R 53 711 — BX
BER |[RBEZ 1) 54 71 - B*
BER [(REBFEZ 2|dJIIR 54 5] — A
BER |[REBEZ 3| 54 7| 049 B*
BER |KBEZ IS 54 5 — A
BER |hiER 1) 54 8| 060 A |EFHILEH
BER [FHEA 15X 55 4 - A
BER |FHEA 2|5 IR 55 4 - A
BER |FEA 3| IR 55-56 4 - A
BER |FHEME 4|5 )IIX 55 4 - A
BER |FEA 1S 55-56 3l - A
BER |FHAA 6|5 JIIX 55 4 - A
BER | 4% E:=S 48 8l - c*
BER [0 2| 48 8| 0.61 A |EFHILEH
BER | 4% 3|ER 48 8l - C |MEHIEEH
BER [ 4BX 48 8l — c*
BER |#EEE— 1B 52 8| 037 BX
BER |AEFE— 2|BRK 52 7| 041 B*
BER |EBE= 1B 53 5 — BX
BER |EEE= 2|ER 53 5 — B*
BEER M 1R 39 4 - A
BER | 2|ERX 39 4 - A
EER |PE 1@ 46 7| 033 B
BER |t S 52 6| 063 A
BER |E& 1@ 52 5| — B
EER |BE S 53 8| 04 B*
BER |RE 2| 53 8| 033 B |WMEdsHEH
BER =& 1|EX 53 4 - B¥
BER |=5 2|@X 53 - = B
BER |E£1U 1|5FILE 47 4 - A
BER [E2WL 2|sFUR 49 4 - A
BER =D 1[sP L 50 5] — A
BER (=i 2|5FILX 51 4| 063 A |EFwLEH
BER =D 3|5FILX 50 4| 064 A |RFEWILEH
BER | KFRA ET=s 45 8| 064 A |EF@GILEH
BER | KFRA 2|5FILX 46 7] 060 A |EFHILEH
BER |K&ER 3|SPILUR 45 8| 061 A |EFGILEH
BER |K&ERA ISHIINES 45-46 7| 0.60 A |RFEWILEH
BER | X&MA 5|sF IR 45 5 — BX
BER | KFER 6|5FILX 45 5] — B*
BER 4% 1|=FILX 49 5 — A
BER |4%E 2|5FILX 51 3l - A
BER (4%t 1|5FILX 49 5 — A
BER B/ 1[sPLX 50 4 - A
BER [#srl 1|SFILE 53 5 — BX
BER [2E5H 1[sPLX 53 4 - A
BER [B2AE 2|sFUR 53 4 - A
BER [25H 3|5FILX 53 4 - A
BER |58 1|SFILE 55 4 - BX
BER (518 2|sF IR 55 4 - B
BER |S5E 3|SFILER 55 4 - BX
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BER |58 4|5FILX 55 4 - BX
BER |S1R 5|sF LR 55-56 4 - BX
BER |58 6|5FILX 55 4 - BX
BER S8 7|5FILER 55 4 - B*
BER ST 1[sP L 55 8| 053 B*
BER (i 1R 1[#% X 46 5] — A
EER B 1 2|8 X 45 5] — A
BER (B 1R 3| 45 4 - A
BEER BE 1 48X 45 4 - A
BER (i 17X 5|# X 45 4 - A
BER |BiE 1 6|#FX 44 a4l - A
BER BiE 17X 7|8k X 44 4 - A
BER [BiE 1 8|#% X 44 5] — A
BER BiE 17X 9|#R X 43 5 — A
BER [BiE 1 10[#% X 43 5] — A
BER BiE 17X 11[#H%EX 44 5| — A
BER (BiE 1 12|#% X 43 5] — A
BER |BiE 21X 1|8 45 5 — BX
BER [BiE 28X 2|# X 45 5] — B*
BER |BiE 284X 38X 45 5| — B*
BER |EiE 21X 4|#F X 45 5 — B*
BEER |fmAW 1|8 47 8| 028 c*
BER |fmAWl 2|14 X 47 8 - c*
BEER |fmAW 3|#F X 48 8| 025 c*
BER [&ER 18X 51 5 — A
BER |RER 2|15 X 51 5 — A
BER |BRER 3|#x X 51 5/ 0.66 A
BER [RER 4|5 X 51 5 — A
BER |RER 5| %k X 51 5 — A
BER [RER 6| #KX 51 5 — A
BER |RER 7|8k X 51 5 — A
BER [HEE 1|8 51 8| 0.60 A |EFHIEEH
BER |[HEE 2|# X 51 5/ 0.60 A |EFHILEH
BER [#REAL 1[#x= 54 5 — A
BER |HRHW 2|8 X 54 5] — A
BER |l 3|8 X 54 5 — A
BER [dLFE 1[#x X 53 8| 0.60 A |RFEWILEH
BER |5t 1|BERX 51 7| 0.38 B |WEMBFEHS
BER |5t EE =S 51 7| 028 C |mMEHIEEH
BER |5t 3| BERX 51 7| 029 C |WMEHRIEFH
BER |5t 4| BEER 50 7| 035 B |MEIEEH
BER |58t 5|BERX 50 8| 053 B |WEMBEHS
BER [#BHFR 1|BERX 55 3l — BX
BER |EBHEIR IEE 43 55 3l — B*
BER (&R KEE TS 55 3l — B*
BER |BHR 4 BER 55 3 — BX
BER (#BFHFR 5|BERX 55 3l — B*
BER |\BHEIR 6|BEX 55 3l — B*
BER [#BFHFR UEET 55 3l — B*
BER |\BHEIR 8|BEEK 55 3l — B*
BER | Tt M#ERX ES=]ES 41 4 - B
BER | T4t 11X ES=]ES 41 4 - B*
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BER | T8 1MEX K ES=]E 40 4 -

BER | Tt 11HE 4| KAR 40 4 -

BEER T4t 1MEX 5|XBARKX 40 4 -

BER | Tt 11HEX 6| KAK 40 4 -

BEER T4t 128X UES=]ES 40 4 -

BER (Tt 128X ES=]ES 40 4 -

BER T4t 128X K| ES=]ES 40 4 -

BER T4t 128X 4| KBERX 40 4 -

BER |T& 128X 5| XBARKX 41 4 -

BER T4t 128X HES=1ES 41 4 -

BER [T 12K UES=1ES 41 4 -

BER [EHE 1 23|—EmH 55 5] —

BER |1t 1|—&h 47 5] —

BER (et 2|—&EH 47 5| 0.34

BER |1Eith 3|—=h 47 5 0.36 T E WS F
BER |fEit 4|—EmH 47 5 —

BER |EE 1|—=h 50 8| 041 MEHIEFH
BER [T5 2|—Em 49 8| 0.33 it E S FH
BEER | 1|—&mH 51 5] —

BER M 2|—Em 51 5 —

BER mhd o 1|—&mH 52 4 -

BER |mbhHdo 2|—Em 52 4 -

BER mhd o 3|I—Eh 52 5/ —

BER X 1|—EmH 54 5] — :

BER [RF 2|—&H 54 5] — x

EER X 3|—E 54 5] — B*

BER (Ef 1|—=H 47 5| 062 A |THESUEFKH
BER |BA 2|—&EH 47 5| 0.62 A |TEHIEEH
BER (Ef 3|—Eh 46 5 — A

BER |BA 4|—EH 46 5] — A

BER (Ef 5|—&h 46 5 — A

BER |BA 6|—&ETh 46 5| 069 A

BER (Ef 11—&E 45 5 — A

BER |BA 8|—&E 45 5] — A

BER |Ef 9|—=mh 44 5] — A

BER |BA 10|—ET™ 44-45 5 — A

BER |Ef =il 44 5] — A

BER |#P 1|#EFH 54 4 - A

BER [#HF 2|FF ™ 54 4 - A

EER |#P 3|ME ™ 54 5] — A

BER |vhE 1 X 8|HF ™ 40 5| — A

BER (v RE 1R 9|#PF ™ 40 5] — A

BER |vhE 1# X o|FF™ 40 5| — A

BER (v RE 28X 1|#EFH 40 4 - x

BER |vhE 24X 2|8 F ™ 40 4 -

BER (R 25X 3|ME ™ 40 4 -

BER |vhE 28X AlFFE™ 39 4 -

BER (v RE 28X 5|3 P 39 4 -

BER |rhE 28X 6|FF ™ 40 4 -

BER |vh 21X Uk = 40 4 -

BER |vhE 28X 8|FF ™ 41 4 -
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BER |rE 28X 9|#PF ™ 41 4 - A
BER [y E 24X 10[#F T 41 5| — A
BEER |FLE 2TH 1|#EFH 46 5] — B
BER [RWUA 2TH 21 F™ 46 5] — B*
EER |FHLE 2TH Kk akinl 46 5] — A
BER [RWUAE 2TH AR 46 5] — A
EER |FLE 2TH 5|3 P 46 5] — A
BER [RWUA 2TH 6|FF™ 46 5] — A
EER |FLE 2TH UE:=kin 46 5] — A
BER |RLUE 2TH 8|HF ™ 46 5] — B*
BER [RUE 2TH 9|#F ™ 46 5] — A
BER |RLUAE 2TH Bkl 46 5| — A
BER [RUE 2TH 12|#F ™ 46 5] — A
BER |RLUE 2TH 13[EF T 46 5| — A
BER (RLE 2TH 14| P ™ 46 5] — A
BER |RLUE 2TH 15[#F T 46 5 0.63 A
BER (RLE 2TH 16| #F ™ 46 5/ — B
BER |FLs 4TH 1|#F T 47 5 — A
BER [fLE 4TH 2|#P™ 47 5 — A
BEER |FLs 4TH 3|FFE ™ 47 5 — A
BER [fLE 4TH 4|#ER™ 47 5 — A
BEER |FuLs 4TH 5|#F ™ 48 5 — A
BER [fLE 4TH 6| 4P 48 5] — A
BEER |FLs 4TH ULk 48 5 — A
BER |FuLs 4TH 8| P 48 5] — A
BER [fLE 4TH 9|#F™ 48 5 — A
BER |Fuls 7TH 1|#EFH 47 5] — A
BER [fLE 7TH 2|FF ™ 47 5 — A
BER |FuLs 7TH 3|ME ™ 47 5] — A
BER [fLE 7TH AlFFE™ 47 5 — A
BER |FuLs 7TH 5|3 P 47 5] — A
BER [flLE 7TH 6|HAF ™ 47 5 — A
BER |FuLs 7TH ek 47 5] — A
BER [flLE 7TH 8|HF ™ 47 5 — A
BER |FuLs 7TH 9|#F ™ 47 5] — A
BER [fulLs 7TH 10[BF ™ 47 5] — A
BER |FuLs 7TH Bk 47 5] — A
BER [flLs 7TH 12|F™ 47 5] — A
BER LA 8TH 1|#EFH 47 5] — A
BER |Fuls 8TH 2|FF ™ 47 5 — A
BEER LA 8TH 3|ME ™ 47 5] — A
BER |/\BE 2TH ekl 49 8| 062 A |EFwLEH
BER [/\1E&E 2TH 2|E ™ 48 5] — A
BER |/\BE 2TH |FFE ™ 48 5 — A
BER [/\i&E 2TH Ak Vakinl 48 5] — A
BER |/\BE 2TH 5|#F ™ 48 5 — A
BER [/\1&E 2TH 6|FF ™ 48-49 8| 0.3t B |WEHEFH
BER |/\BE 2TH UE: =k 48 5 — A
BER [/\1&E 2TH 8| P 48 5] — A
BER |/\BE 2TH 9|#FT™ 48 5 — A
BER |/\IBA 2TH 10|# P 48 5 — A
BER |/\BE 4TH ekl 49 5 — A
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BER |/\BA 4TH 5|3 P 49 5] — A
BER [/\iE& 4TH 6|FF ™ 49 5 — A
BER |/\BE 4TH UE:=kin 49 5] — A
BER |/\iEE 4TH 8|HF ™ 48 5 — A
EER |/\BE 4TH skt 48-49 5 — A
BER [/\IEE 4TH 10[BF ™ 49 5] — A
EER |/\BE 4TH Bk 49 5] — A
BER [/\1EE 4TH 12|F™ 49 5] — A
EER |#EL 1|#EFH 55 5] — B*
BER (@AW 2|FF ™ 55 5] — B*
BER [FEIW Kk akinl 55 5] — B*
BER |RE 1|3 @H 51 5 — A
BER [RiE ES: 51 5 — A
BER |RE KE: 51 5 — A
BER [RiE 4|3 @A 51 5 — A
BER |RE 5|3 @t 50 5 — A
BER |[RiE 6| AT 50 5] — A
BER |RE UES: DT 51 5 — A
BER [RiE 8| AT 50 5] — A
BER |RE 9|¥HE™ 50 5 — A
BER |RE 10| E™H 50 5 — A
BER |RE 11(FBH 50 5| — A
BER KRR 12| @™ 50 5 — A
BER ¥/ 1|#@H 52 5 — A
BER (¥H8 2|%[@E™ 52 5 — A
EER ($H8 KE: 52 5 — A
BER (¥ 4| @™ 52 5] — A
BER ($H 5|3 @t 52 5 — A
BER (¥ 6| AT 52 5] — A
BER (¥H UES: DT 52 5 — A
BER ($/8 8| AT 52 5] — BX
BER [EW 1|&ZBHH 51 5 — A
BER |ZWL 2|&EBHH 52 5 — A
BER [EW 3|EBHT 52 4 - A
BER |ReHE 301|&FBHH 48 5] — A
BER |HafkA 302|&FB HH 48 5] — A
BER |ReHE 303|&FBHH 48 5] — A
BER |Hafka 304|FB HH 48 5] — A
BER |ReHE 305|&F B HH 48 5] — A
BER |HaHka 306|Z& B Hm 49 5 — A
BER |RaHFE 307|&EBHH 49 5] — A
BER |RaHke 308|&FEB Hm 49 5 — A
BER |Haka 309|&F B HH 49 5] — A
BER |WR 1|&ZBHH 52 5 — A
BER (R 2|&EBHT 52 5] — A
BER R 3|EBHT 52 5 — A
BER (R =B 52 5] — A
BER |WR 5|&FBHH 52 5 — A
BER (R 6|&EBHH 52 5] — A
BER |WR 1| &EBHT 52 5 — A
BER R 8|&EBHH 52 5 — A
BER R 9|EFEBHT 52 5 — A
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BER 2B HE3=E 52 4 -
BER |25 2|ZE™H 52 a4 -
BER 2B 3BT 52 5] —
BER P2 1|XWm 55 4 -
BEER HE 2| KW 55 4 -
BER |EH 1| R 50 5] —
EER |EH 2| KW 50 5] —
BER (EH 3| XKW 50 5] —
EER |XEH 4| KW 50 5] —
BER (EH 5| XL 52 5] —
EER |XEH 6| KL 54 5] —
BER |EH 7| X 54 5| —
BER |XH 8| K 54 5] —
BER |EH 9| XLl 54 5| —
BER |EH o| XKW 54 5] —
BER |5 1| R 46 5] —
BER (&M 2| KW 46 5] —
BER |KF 1[I/ 54 5] —
BER [RE 2|i T/ 54 5] —
BER |BE 1[I/ 54 5] —
BER |BE 2|iIFaH 54 5 —
EBER |BE ;T 54 5] —
BER [k 1|/ 51 5 —
BER |/ 2|/ 51 5| —
BER |/ 3|/ 52 5] —
BER |k 4|/ 52 5| —
BER [/ 5//M&T 52 5] —
BER [dtstd 7/ & 54 3l —
BER |dtstl 8|/ 54 3l —
BER [dbstd 9|/ T 54 3l —
BER |dtstl 10|/ 54 3l -
BER [dbstd 11[/M&Th 54 3l —
BEER |destl 12|/ 54 3l -
BER bk 1|/V&Th 53 3l —
BEER |kE 2|/ 53 3l —
BER bk 3|/ 53 3l —
EER |kRE 4|/ 53 3l —
BER [tk 5|/\ & 53 3l -
BER O 1|/ 54 3l —
BER A 2|/ 54 3l -
BER O 3|/ 54 3l —
BER o 4|/ 54 3l —
BER O 5//M&T 54 3l —
BER (s 1|#@iR™ 47-48 8l - it A= S & A
BER |mHE 2|FER™ 48-49 8| 0.34 it = S F A
BER |8 HEE:ii 53 5] —
BER (& 2|Ei|Hh 53 5] —
BER [FK HEX:1i 43 5] —
BER [EK 6| | 46 4 -
BER [FK UEE:D0 46 a4 -
BER [EK 15|FiEH 45 5] —
BER [FK 16| ™ 45 5/ —
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BER [[FK UES: 46 5| — B*
BER (EA ik Ei 49 5| 062 A |EFwLEH
BEER |EH 2|5 49 5| 025 C |MEHIEEH
BER (EH 3|FZh 49 5| 061 A |EFGILEH
BER |FHE FIES 49 5| 0.60 A |EEFHILEH
BER (EH 5|5 % 49 5| 0.60 A |EF@GILEH
EER (1B 1|EiREBH 53 3l — A
BER (B 2| BiRETH 53 3 — A
EER (1B 3| ESRNETH 53 3l — A
BER |8 4| BiRETH 53 3 — A
BER (1B 5| EiRNETH 53 3l — A
BER (1B 6| EsRIETH 52 3 — A
BER (1B 7| ERNETH 52 3l — A
BER (1B 8| EBiRMETH 52 3 — A
BER (1B 9| ERNETH 52 3l — A
BER |pizhE 1|Z28H 50 3 — A
BER (hi-hE 2|28t 50 3l — A
BER |pizhE 3|28 51 3 — A
BER (=& 4| ZBATH 51 3l — A
BER |pizhE 5|2 8AHh 51 3 — A
BER |EAF 1| RAFEH 51 4 - A
BER |[RAF 2Q/EAFH 51 4 - A
BER |EAF | RAFH 51 4 - A
BER [RAF 4| EAFH 51 4 - A
BER [RAF 5| RAFH 51 4 - A
BER |EAF 6| RAFH 51 4 - A
EBER [RAF 1NEAFH 51 4 - A
BER |EAF 8|RAFH 51 4 - A
BER [RAF IEAFH 51 4 - A
BER [EAF 10[RAFH 51 4 - A
BER |RAF 11|RAFH 51 5] — A
BER |®"EW 1|RAFH 53 4 - BX
BEER |REW 2| RAFH 53 4 - BX
BER |"HEW 3| EAFH 53 3 — BX
BER (KO 7| KO8T 55 4 - B*
BER |XxO 8| K O ET 55 4 - B*
EER | KO 9| KOHAT 55 4 - B*
BER [ERE 1|2 AT 54 4 - A
EER | 2| K 2 Hy 54 3l — A
BER B 3| 20T 54 5 — A
BER (R 4| 2 HE] 54 5] — A
=X
BER (2 1|24 52 3 — B*
BER |2 2|2Eh 52 4 - BX
BER (= 3|&24ETH 52 4] 032 B*
BER |KF A|Z1Eh 42 5| — B |[ABERERE
BER (KF B2+ 42 5| 037 B |ABRERERE
BER |KF C|&#Em 42 5| — B [ABERERE
BER | XF D|&#Em 42 5 — B |ABERER
BER |KF E[ZETH 42 5| — B |[ABERERE
BER (@O 10|25 53 5 — BX
EER (/O 11|248H 53 5/ — x
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BER |AH 1|24 47 5] — A
BER [AH 2|25 47 5 — A
BER |AH K2 47 5] — A
BER [AH 4|28 47 5 — A
BER |AH 5|24 47 5] — A
BER |[AH 6|24BH 48 5] — A
BER |AH UE2ihr 48 5] — A
BER |[AH 8| &5 48 5] — A
BER |AH 9|E4E™ 48 5] — A
BER |AH 10|28 48 5] — A
BER |AH 11|28 H 49 5/ — A
BER |AH 12|48 H 49 5| — A
BER |AH 13| 248 48 5] — A
BER |AH 14248 H 49 5| — A
BER |AH 15| 248 49 5] — A
BER |AH 16| 248 48 5| — A
BER (XK 1|24 49 5] — A
BER | KR 2|25 49 5 — A
BER (XK 3|&24ETH 49 5] — A
BER |EvI5 1|24 h 49 5| — A
BER [Ey05 2|28 49 5 — A
BER |EvI5 3|25 51 5| — A
BER [E405 4| 2B 50 5 — A
BER |Evi5 5|25 50 5| — A
BER [Ey0& 6|25 50 5/ — A
BER | KEKAE E2E 54 5 — A
BER | KEKE 2|25 54 5] — A
BER [KEKE 3|25 54 3 — A
BER | KEKE 4|25 54 3l — A
BER [KEKE 5|25 54 3 — A
BER | KEKE 6|25 54 3l — A
BER | KEKE 7|E24B™H 54 3l — A
BER | LA 1| v 46 5] — A
BER | LfE 2| 46 5 — A
BER | LA 6 | E & T 46 5] — A
BER (LA 7| 46 5] — A
BER | LA 8| T 46 5] — A
BER (LA 9| R & T 46 5] — A
BER | LA 10| A& vh 47 5] — A
BER (LA 12 | & Th 47 5| — A
BER | LA 14| A& H 47 5] — A
BER |RE 1| B v 49 5 — A
BER (XE 2| T 49 5] — A
BER |XE 3| 49 5 — A
BER (XE 4| E T 49 5] — A
BER |XE 6| [ 49 5 — A
BER (XE 7| 48 5] — A
BER |XE 8|l 48 5 — A
BER (XE 9| 48 5] — A
BER |XE 10| & TH 48 5| — A
BER (KB 11| R g 48 5 — A
BER |RE 12| & TH 48 5| — A




=/MsfE

e | GE4 FRiEM |RBREE ™ RXH? | fEmsg®
BER |AE 13| 48 5] — A
BER (K& 14|EETH 48 5| — A
BER |KE 15| & 48 5/ — A
BER | KRB 16 |FEETH 48 5| — A
BER |AE 17 & H 49 5/ — A
BER (A8 18| [ H 49 5] — A
BER |[EXYE 1| v 49 5] — A
BER B/ R 2| @& 49 5] — A
BER [EXYE 3| T 49 5] — A
BER B/ R 4| T 49 8| 03 B |MEHEEH
BER (b 1|21 52 5] — A
BER b 2|21 51 5 — A
BER |fHih 1|21 55 5] — A
BER |Hm 2|12t 55 5] — A
BER |fHih 3|2t 55 5] — A
BER |m e 54 5| 068 A
BER |fHih 5|2 )1t 54 5] — A
BER |Zyl 1|EmfEh 52 4 - A
BER (Zwvil 2|Ew/h 51 4 - A
BER |mHH 1|EmfEh 54 5 — A
BER (&1 1|2/@H 55 5 — BX
EER |UIF 1|2 @mH 51 5 — A
BER [EL 1|2@h 53 3l - A
BER |BEL 6|2l 53 4 - A
BER [EL 7|Z2@ETH 54 4 - A
BER |RR 1|2 @mH 49 5 — A
EBER |[RR 2|2@TH 49 5] — A
BER [RR 3|2/l 49 5 — A
EBER |[RR 4| 2@ 49 5] — A
BER [RR 5|2/l 49 5 — A
BER |RR 6|2/t 48-49 5 — A
BER (RR =k 48 5 — A
BER |[RR 8|2/t 48 5] — A
BER [RR 9|E M 48 5 — A
BER |RR 10(Z@H 48 5] — A
BER [RR 11|2@mH 49 5] — A
BER |[RR 12(Z@H 49 5] — A
BER [RR 13|2@mH 49 5] — A
BER |[RR 14(Z@AH 49 5] — A
BER |[RR 15|2/@H 50 5| — A
BER |RR 16(Z@™H 50 5] — A
BER |[RR 17(2@H 50 5| — A
BER [RR 18(Z@H 50 5] — A
EBER |[RR 19[2/AH 50 5| — A
BER [RR 20|22 M@ 49 5] — A
EBER |[RR 21| 2@ 49 5| — A
BER [RR 22| Z2 @A™ 49 5] — A
BER |[RR 23|E@E™ 50 11| 0.63 A
BER [RR 24| E @A™ 49 11 — A
BER &R 25| 2@ 50 11 0.31 B |WEmEHEH
BER |t 1|2@h 50 5 — A
BER |#ith 2|2/l 50 5 — A
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e | GE4 #HX | A FRiEHh  |RERERE| MK ™ RXH? | fEmsg®
BER |#it K1 50 5] — A
BER (4t 4|2/l 50 5 — A
BER |#it 5|2 /| 50 5] — A
BER (4t 6|2l 50 5 — A
BER |#it 7| 2@ 50 5] — A
BER [F2 1|2 @mH 50 5 — A
BER T2 2|2@TH 50 5] — A
BER |Fi2 1|@EH 55 3l - A
BER |FiE 2|FE™ 55 3l — A
BER |Fi2 4|TE™ 55 3l - A
BER kS 1|FEE™ 55 5| — B*
BER |HiES 2|FE™ 55 5 — BX
BER (MR 1|EER T 52 4 - A
BER R 2|5EERT 52 4 - A
BER [HER 1|&EH 53 3l — A
BER |SiE 2|&ET 53 3 — A
BER [HER 3R 53 5] — A
BER |SiE A|EET 52 5 — A
BER [HER 5= & 52 5] — A
BER |SiE 6| = E 52 3 — A
BER [HER 7= ET 53 3l — A
BER |SE 8|EEm 53 31 — A




